

Title: Oct 11 - 11:47 AM (1 of 9)

Question 1. Given a measured pendom provocae **(+) **(n), find on ARMA model which could have generated it. First (une Bontlett to) extract the autocompletion. $R_{x}(\tau)$. Then find { a's b's} which give that autocorrelation.

Title: Oct 11 - 12:20 PM (2 of 9)

Second question, give ARMA o's 4 b's, what is R_X(E) and of the output? The "Yule-Walker" relate a; h's, R's the them to answer question I or justine?

Yule-Welker Equations.

alo)
$$V(n) + a(1) \times (n-1) + a(2) \times (n-2) + a(3) \times (n-3)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(m-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(n-2)$$

$$= b \ V(n) + b \ (1) \ V(n-1) + b \ (2) \ V(n-2)$$

$$= b \ V(n) + b \ (1) \ V(n-2) + b \ (2) \ V(n-2) + b \ (2) \ V(n-2)$$

$$= b \ V(n) + b \ (2) \ V(n-2) + b \ (2) \ V(n-2) + b \ (2) \ V(n-2)$$

$$= b \ V(n) + b \ (2) \ V(n-2) + b \ (2) \ V(n-2) + b \ (2) \ V(n-2) + b \ (2) \ V(n-2)$$

$$= b \ V(n) + b \ (2) \ V(n-2) + b \ (2) \ V(n-2) + b \ (2) \ V(n-2$$

Title: Oct 11 - 12:26 PM (4 of 9)

Title: Oct 11 - 12:32 PM (5 of 9)

Title: Oct 11 - 12:37 PM (6 of 9)

$$\sum_{k=0}^{\infty} a(k) \chi(n-k) = \sum_{k=0}^{\infty} b(k) v(n-k)$$

$$\sum_{k=0}^{\infty} a(k) R_{\chi}(k-k) = \sum_{k=0}^{\infty} b(k) \sum_{k=0}^{\infty} \chi(n-k) v(n-k)$$

$$\sum_{k=0}^{\infty} a(k) R_{\chi}(k-k) = \sum_{k=0}^{\infty} b(k) h(k-k) \sigma_{\chi}^{2} v(k-k)$$

$$\sum_{k=0}^{\infty} a(k) R_{\chi}(k-k) = \sum_{k=0}^{\infty} b(k) h(k-k) \sigma_{\chi}^{2} v(k-k)$$

$$\sum_{k=0}^{\infty} a(k) R_{\chi}(k-k) = \sum_{k=0}^{\infty} b(k) h(k-k) \sigma_{\chi}^{2} v(k-k)$$

$$\sum_{k=0}^{\infty} a(k) R_{\chi}(k-k) = \sum_{k=0}^{\infty} b(k) h(k-k) \sigma_{\chi}^{2} v(k-k)$$

$$\sum_{k=0}^{\infty} a(k) R_{\chi}(k-k) = \sum_{k=0}^{\infty} b(k) h(k-k) \sigma_{\chi}^{2} v(k-k)$$

$$\sum_{k=0}^{\infty} a(k) R_{\chi}(k-k) = \sum_{k=0}^{\infty} b(k) h(k-k) \sigma_{\chi}^{2} v(k-k)$$

Title: Oct 11 - 12:46 PM (7 of 9)

Title: Oct 11 - 12:52 PM (8 of 9)

See noter for elaboration.

How do you find the h's

$$g^{*} \circ \qquad p=2$$
 $\chi(n) = b/0 \ V(n) - a(1) \chi(n-1) - a(2) \chi(2)$
 $\chi(0) = b/0 \ V(0) - a(1) \chi(0) - a(2) \chi(-1)$
 $= b(0) \ V(1) - a(1) \chi(0) - a(2) \chi(-1)$
 $= b(0) \ V(1) - a(1) b(0) V(0) - 0$
 $\chi(2) = b(0) V(2) - a(1) b(0) V(0)$

and so on.

Confine with $\chi(0) = a(1) \int_{0}^{1} b(0) V(0-1) + h(2) V(0-2) + h(2) V(0-$